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Problem ::;olving guestions basing on thinking and understanding.
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1) There are 6 bunches of green grapes and some bunches of black grapes in a
shop. The total bunches of grapes are 9 in the shop. How many bunches of
black grapes?

Number of bunches of green grapes ___
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Number of bunches of black grapes ___ 9
Total bunches of grapes in the shop ___
6
___bunches of green grapes + __ bunches of black grapes =__ bunches of grapes.

2) There are 9 blue cars and some red cars in a show room. The total number of
cars are 15 in that show room. How many red cars in that show room.

Number of blue cars

Number of red cars in that show room 15

Total cars

___blue cars+ ___ red cars = cars.

EDUBUZZ
edubuzzkids.com © 2013. All Rights Reserved. “'Ds




